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() 39 Y9I-9F HI @ YN, YT 3 R YT &, § FieT T E | 39l @Al 9rn &
o] & IR forad & |

(ii) @ J97 S & |

(iii) R I¥T-77 G 551 397 4 FIF 997 919 T8 & |

(iv) STTH YFT I IR YT T F T T & I JAL-JUF 9T B IR T
foraa & 1

() YT D YT GEIT1 T3 & F97 TH-UF 3% & & | 599 I Uk 915§ 379al
TEFFTH G/

(i) YT N F YA GEIT 4 & 6 F I97 -3 IFH F & | T IFW TIYT
30 G 4378/

(vii) NI 37 & ¥¥T G&IT 7 T 18 & F¥T di4-di7 Hl & & | FHH I TTHT
50 JIsGl 4 37 8 /

(viii) 97T 37 & Y97 G&IT 19 T 24 & ¥97 Gia-9ia 371 & & | §9% IT TTHT
70 55l H 37 7

(ix) Y77 & Y97 &7 25 & 33 & Y97 JVICHF 19T R SR Tglashed] Jo7
g | I9% J97 U 3% FT & | 130 70 IR kel § @ 379! dacT Th qad
39YH faheq G 8 |

(x) YT T & 97 G&IT 34 T 36 F I FANIIHE HIVicT W TENRT 31-31 371 &
J97 8 | 59 I GIg 7 37 8 /

General Instructions :

(i) The question paper comprises of two Sections, A and B. You are to
attempt both the sections.

(it)  All questions are compulsory.
(iit)  There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be
attempted separately.

(v) Question numbers 1 to 3 in Section A are one-mark questions. These are to
be answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two-marks questions. These are
to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These
are to be answered in about 50 words each.
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(viii) Question numbers 19 to 24 in Section A are five-marks questions. These

are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are

to select one most appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on

practical skills. These are to be answered in brief.

T A
SECTION A

1. T 3] i T Eifew 3R 300 Tgast e 6 ge fafaw | 1

Draw the structure of ethane molecule and write the number of covalent
bonds in it.

2. 3 qEEe Iifvrfshar w1 9m ey foEert ST woHie sl UdHTEs 37 |
giafda s § fopam Simar 2 | 1

Name the chemical reaction used to convert ethanol to ethanoic acid.

3. T Sa-ufsean w1 9w forftau s fereft Sfta & s1feaca o fow stesess 2 |

Name the life-process that is essential for the existence of an organism.

~

4.  TEUST 3R GUSH % &9 gl fGWGThR AL hi Gl dlfciohl < ®T H a915C | 2

List in tabular form two distinguishing features between the binary
fission and fragmentation.

5. 3 gUull g o+ Sfafersi o fehegl =) rfie@en (Tn) 1 Seorg i | 2

State any four characteristics of the images formed by convex mirrors.
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6. AW AN YSIferyy Hl AATeHt 9 FA AFT SITAT 8 2 T8 ol DT Tellohul
|Id F1 81 7T Sl g ? 39 $9Hi o ged § Teha arel! fopet I gred W

W ey | 2

Why are coal and petroleum considered as fossil fuels ? Why are these not
considered as renewable sources of energy ? Write the name of a green
house gas released on combustion of these fuels.

7. WA Afen § JhEicHS U F1 BIAT & ? (1) WU R (i) FARISTGA
AT G 3N S0 YT JehrIicHeh &g o1 AW IRy | 3

What is a functional group in carbon compounds ? Write the structural
formula and the functional group present in (i) propanol and
(i1) chloropropane.

8. M awl X, Y 3R 2 feh wuTy] shuieh ShE: 8, 17 3N 20 7, % ol
famma foifee ok ffafaa st & 3w i 3
(a) 7 hl AT T A1 8 ?
(b) Y’ i THg GEAT FAT 8 ?
(¢) X’ 3IRZ < TIM ¥ & Jfireh o1 g fafaw |
Write the electronic configurations of the elements X’, Y’ and ‘2’ having

atomic numbers 8, 17 and 20 respectively, and answer the following
questions :

(a)  What is the period number of ‘Z’ ?
(b)  What is the group number of Y’ ?

(c) Write the formula of the compound formed by the combination of
X’ and Z’.

9. TR UHoH gl ohH YR S LT § ? HIfhd STR@I <hl &Il § SATET
i | S99 6 3 fafy = swdfie fafy st +ad 8 2 3

How does Hydra reproduce by budding ? Explain with the help of labelled

diagrams. Why is this method of reproduction called asexual method ?
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10. ¥Hal gRI MUY W fT o1oeTE SH arent fohmel =R fafem st g=f aqise |
gfe 31T Ueit gRT 3 fAfRr ol I @ 3 UNER & TR 37 e hl

TG W B aTcl IHTE T G989 § 3oci@ hiT, | 3

List any four methods that are adopted by human beings for
contraception. State in brief how the health of a family and prosperity of
a nation is affected, if these methods are adopted either by the husband
or the wife.

11.  3Uid Seaun 3R STafses (I9mTd) devi & o foregl fiF fadegrerrt aeon
! =N dTleteht o &9 § FET | 3

List in tabular form any three distinguishing features between the
acquired traits and the inherited traits.

12,  “Tequr gNTE] I1ET TS BId & 39 q2¥ hl <4 % T Aed 4 fhE YR
39 G o GROmHET 1 Sfdared foram 2 @&g | syren i | 3

How did Mendel interpret the results of his experiments to show that
“the traits may be dominant or recessive” ? Explain briefly.

13. I3 BH fhdl o8 % THIRH 5 § 80 cm P Wl HHacl sl Sarall
Tiifersl S T8 o TR g 8 20 cm G W@ TG T BIEhHEd AT A18dl @ |
(a) W T8 YRR T oW ST AT AMMEY ? HRU Agd IW AT |
(b) (i) Tora 3R 3k witifera o o= sl g 3R (ii) wikifera 1 T@e F1a

HITT |
(c) 39 YU § Wiafers 31 &A1 1M o T fomor aTit@ S | 3

A student wants to focus the image of a candle flame placed at a distance
of 80 cm from the optical centre of a lens on a screen placed at a distance
of 20 cm from its optical centre.

(a)  What type of lens should he use ? Answer stating reason.

(b)  Find (i) the distance between the object and its image and (ii) the
magnification of the image.

(c) Draw a ray diagram to show the formation of image in this case.
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14. T=fifed § 9 I @ H AT IT-GRAHRT T Gi=ehl TG b 4slid
o foRTuT % 99 I TMRT | 3

JF | F PO\ F E
(1) (ii) (iii)
Draw each of the following diagrams on your answer sheet and show the
path of the ray after refraction.

N A T
F \] F F v F F A F
(i) (ii) (iii)

15. dcfie 39 91 R 239 39 % < RO hl G SIS | 39 GG H TGN g
Y 29 k! GENYd A hl e frur 3 Eiest hIfSu | 3

What is hypermetropia ? List its two causes. Draw a ray diagram to
explain the correction of this defect using an appropriate lens.

16. fowet U8 fspamema 1 9ufa hifse frees gro geemsr & gehiola w1 faefia feran
T R | 3

Describe an activity that demonstrates the scattering of light.

17. Toreht foamem & “Sont 7@ & 3991 AT $ER 5 98 Hegd R R o1ae &
& off fafet & “Se-frefieeia” o “smg-frfeeie” w=t @l gus
H h NTEATIHAT FHAH o TTC “SITEehar SRR TAMT a9 8 | 38
BET o Y T SR AN ol Toh gohl TG hek o fadepqul &1 | Faem
T hl TATIRAT 1 e THLAT AT FT Ul o ANh el ol sTafree
%I B T IR TUSI oh TEGH & |l I8 3T AT |
(a) O I G Gl § YUk Hih IHH HUCK HW H g i h g

SAIST |
(b)  #fmH FUR g feu Tw g qeht i F SR |
(¢) WM $FAR g1 TERid @ qea forfen | 3
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Mr. Kumar, the incharge of “Eco-Club” of a school felt the need ot
organising an “Awareness Campaign” for the residents of the nearby
areas to make them realise the necessity of segregating the biodegradable
and non-biodegradable wastes. He went from door-to-door with his
students and gave arguments to explain the people about the importance
of disposal of their household waste judiciously. He also informed them
about the prosecutional provisions in the cases where garbage is thrown
at places other than the specified bins.

(a)  List two advantages of disposing the waste after segregating it in
two categories.

(b)  List two arguments given by Mr. Kumar.

(c) Write two values exhibited by Mr. Kumar.

18. f=faRaa & gfee & forw svror ifSe 3
(a) IS IMER STA H Hofl sl JaTg TSI BT 2 |
(b)  Torelt TTfias © STverceni 1 wEwaqul YfEehT Bt 2 |

Give reason to justify the following :
(a)  The flow of energy in every food web is unidirectional.

(b)  The decomposers play an important role in an ecosystem.

19. #HEl H URET b fhdd SS B B ? ST § fomT TurgEl o el <l wen wa
8 ? wMal # fohad YR < To TUrEE WIw S g ? “Amal § TRt Tawma g
&1 formm A Tam ® 9un SRl (ATar-far) | @ fereft r oft gues fow soRerEht
& AT ST FehdT |7 39 A <t g fem-freiter it wfskan w1 e aren yarg
M@ TiFeht HINT | 5

How many pairs of chromosomes are present in human beings ? Out of

these, how many are sex-chromosomes ? How many types of
sex-chromosomes are found in human beings ? “The sex of a newborn
child is a matter of chance in human beings and none of the parents
(mother-father) may be considered responsible for it.” Justify this
statement by drawing a flow chart showing the process of
sex-determination.
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20. 3Rt I57 h1 FICEH-HIC T ARG Giaeht HHATARGA bl ATHIRd HiIC
VSN, WRThIS, dfdepl, afdeml, =g

S8 9 grel SR bl Ug=T- 9T Icdeh o1 Ueh-Ush ¥ foIRgy | 5

Draw a diagram of longitudinal section of a bisexual flower and label the
following :

Ovary, anther, style, stigma, filament

Identify from these the female reproductive organs and state one function
of each.

21. (a) e forel o grr Soes e o fome i foeelt oft feurfa & forw edor
TR ST 3T Ufdfore Gea & Hien 3 91ss | SISl o4d1 8, i I§ a4l
forg TR T B ? 39 I & U 4 four o difuw | 3 SRR &+
TYUT T IYATT HHTIG: B9 hal T 1 hid & ?

(b)  Ter®t gUoT % |MA GO & 20 cm g W fEorq fopet forrar o1 Wfdferar gdur
% 98 10 cm G W ST 8 | GUU hT Yhfd TR Hihd g @ AN | 5

(a)  If the image formed by a mirror for all positions of the object

placed in front of it is always erect and diminished, what type of
mirror is it ? Draw a ray diagram in support of your answer.
Where and why do we generally use this type of mirror ?

(b)  The image of an object placed in front of a mirror at a distance of
20 cm is formed behind the mirror at a distance of 10 cm from it.
Find the nature and focal length of the mirror.

22. 39d Yk & fI&gur < gerrer fortor s diwent same hifse | wod g
TIFEH 1 GHAeH ohE TR TohaT ST Wehal B, $H ATHIRhA TohtUl 3@ hI
T § ST | 5

Draw a ray diagram to explain the dispersion of white light. With the

help of a labelled ray diagram, show how a spectrum of white light may

be recombined.
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23. (a) MY 3TEd TRON § FHEI AR MEA! hl H&AT TARIT | ST |l oh
forelt T W W ¥ T I W T A5F § R INEdd giaT @ 2 3R
HR ST |
(b) TRl A, B, C 3R D % 3iaei-e fo=ma o e 2
A-(2,8,7); B-(2,81); C-(2,8,2); D-(2,8,8,2)
(i) T4 9 HH-A1 T AT TS ST IR Tl 2
(i) 39 @ forg o< sl ] Foreen oo Bt 8 M A 2
(i) 39 ¥ I @ ad gHw Fdh ademar gaE g IR &
ITI-SATE-E g ATk oM & | 5

(a)  Write the number of groups and periods in the Modern Periodic
Table. How does the atomic size vary down a group in the periodic
table ? State its reason.

(b)  The electronic configurations of four elements A, B, C and D are as
follows :

A_(2, 87 7); B_(27 8’ 1); C_(27 8? 2); D_(27 87 8; 2)

(1) Which amongst these elements will form acidic oxide and
why ?

(i1))  Which amongst these elements has the smallest atomic
radius and why ?

(1i1) Out of these select those two elements which have same
valency and form compounds by ionic bonds.

24, HEA g TEIa: TgEAS AE-El g & Afrehi 1 AT & & Hron
T HITT | 37 3 TIE FHRON T Iech@ HITT N e gRT TS q&l
# ANfirent o1 fmior fopn S o6 e STRerht € | a7 oft wase hifSe o6 el g
3= el o |y it it ANfires stfoery w9 worft w0 g 2 | 5

Explain the reasons why carbon forms compounds mainly by covalent

bonds. State two main reasons responsible for carbon making a large
number of compounds. Also explain why compounds formed by carbon

with most other elements are exceptionally stable.
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SECTION B

25. I3 BT HIGHIhI-ATIRAT 1 LTI HLd THY Sept B TRF aeqid dal H

20% NaOH faea e © o8 Jeqor sar & o

(A)
(B)
(&)
(D)

A student while studying a saponification-reaction on adding 20% NaOH

et 1 STl Hag Sl Bl Al @ |
fHsroT 1 T1 9T B ST R |
et | g gegaree Bt § |
SRt <l aTEll Tdg T & S 8 |

solution to a colourless vegetable oil taken in a beaker observes that

(A)
(B)
(©)
(D)

the outer surface of the beaker becomes cold.
the colour of the mixture becomes brown.
there is a brisk effervescence in the beaker.

the outer surface of the beaker becomes hot.

26. Hfw v F urHw! H GE TR AT |

(A)
(B)
(&)
(D)

Ty-ftes Sl A foreww w1 e we
Ty-faes SH); it fotema o1 e
Tg-gaR i€ Hidt fofena &l a e
Tg-HA i€l A forens i e e

Select the correct pair of properties of acetic acid.

(A)
(B)
(&)
(D)

531/2

10
Downl oaded From : http://cbseportal .conf Courtesy :

Smell-like vinegar; turns red litmus to blue
Smell-like vinegar; turns blue litmus to red
Smell-like orange; turns blue litmus to red

Smell-like orange; turns red litmus to blue
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27. I3 BF RO THew o ¥ TH-AleE W WEH ¥ AEd I fHelldl &
3T I8 J&1 KT 7 o @l | 1

(A) A <kl AT WA &9 Il 3 |
(B) E%he 3798 &dT 7 |

(C) T=o faaa o= ST 2 |

(D) TTEH 3R T 19 % gaga FHehard & |

A student gently adds distilled water to a test tube filled ith with acetic
acid and observes that

(A) a separate layer of water is formed in the test tube.

(B)  a white precipitate is formed in the test tube.

(C) aclear solution is formed in the test tube.

(D)  bubbles of a colourless and odourless gas are released from the test
tube.

28. Tr=fcifea # & forg s # = & 50 & Tord arefl foreft weprer fomeor =1

Y T ®Y 9 ST AT 7§ 2 1
I II 111 IV

A I

B) 1II

(C) III

D) 1V
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In which of the following diagrams is the path of a ray of light passing '
through a glass prism shown correctly ?

g iga

A 1
(B) 1I
(C) 1III
(D) 1v
D
29. aﬁmwa&mm%&%qm%ﬁ,mﬁaﬂqﬁgé,ﬁmﬁm
A 7, A1 I Tidfers Sl SERd et g =T 2 1
D d
@ X ® X
© < o <
d D
D
If you focus a distant object of the shape using a concave mirror, the
image obtained must be of the shape
D d
@“ X< ® X
© < o <
d D
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30. fmfafea # 9 fora M@l § (uad wior R fid o =& 993 o ey
I (D) hl Hal @71 8 TQT 7 8 2 1

S N NI

™ ] T X

(A)
(B)
(®)
(D)

I II ITI v

I, I11
LIV
I, TI1

II, IV

In which of the following diagrams has the protractor (D) been correctly
placed to measure the angle of incidence and the angle of emergence ?

t

LT <%

b

(A)
(B)
(©)
(D)

531/2
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31. THfaRad @ ¥ il o1 98 g gHT, e fret off e 1 ST fgaitetysl
ST % YUT ST LI A o o0 Fomarm <11 Tehat 2 |
(A)  HITheT, TSHT, HX
(B) AT, AL, Hahl
(C)  wFHI, TR, TSHT
(D) =, g, qrhe
Select from the following a group of seeds, whose any seed may be used to
study the embryo of a dicot seed.
(A)  Ground-nut, Kidney bean, Pea
(B) Gram, Pea, Maize
(C) Maize, Wheat, Kidney bean
(D)  Gram, Wheat, Ground-nut
32. I B YEA gRI Bihiyd Tss § e § fgaved o ffaRed = 1
U&U1 L TET @ | $Heh HeY H wel Yo gy |
o'/\/\
\ =L
(A fg@ued &1 wafies =t
B) Temuea =1 sifm =0
©) Temved w1 97 ww fed Fifteege fawfa & @ @ W Fgs 6
(D) fg@ved =1 a8 = fad shges fawTiora &1 @1 8 weg iy T8
A student observes the following stage of binary fission in Amoeba in a
focussed slide under a microscope. Select the correct observation in this
regard.
\ &<
(A)  First stage of binary fission
(B)  Final stage of binary fission
(C) That stage of binary fission in which the cytoplasm divides but the
nucleus does not
(D) That stage of binary fission in which the nucleus divides but the
cytoplasm does not
531/2
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33. T=fciRea & @ gwafa (F9&d) 7 1 I AT | ' 1
(&) Tl it wt % T
(B) &{HUl 3R SIcreder=ii % 9Tg
(C) Yfeqai 3 A&l & 9ig
(D) dferi 3R Iwmeel & 9@
Select the pair of analogous organs from the following.
(A) Limbs of birds and reptiles
(B)  Limbs of reptiles and amphibians

(C)  Limbs of birds and human beings
(D)  Wings of birds and bats

34. e # goporn I ulskn i =men sw ufskan & fafym =i & w@d wa d
qifeRd STR@ iRt I | 2
Explain the process of budding in yeast by drawing labelled diagrams of
different stages of the process in a correct sequence.

35. Tmfafga fmw sm@ w1 s hifse 3t 38 died 999 s g 6 T8
fopeal a1 qfeAT 1 Ioai@ HINT | 34 el 1 R ek fora i feafq o aegey
gfafers &t aredfass feafq =1 29 & foe g8 e smg difum | 2

F2 2F2

oF F,

Study the following ray diagram and state any two mistakes committed
by the student while tracing it. Rectify these mistakes and draw the
correct ray diagram to show the real position of the image corresponding
to the position of the object.
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36. 39 GHI AW FAT YU HId & 9 T VHICH A I FS Hg 39 Tacil H
fiemd & foes w8 2
(A) TR S ?
(B) W fefend T 2
(©) e foreny fae=m 2
(D) W& T ?

What do you observe when you pour a few drops of acetic acid to a test
tube containing

(A)  Distilled water ?
(B) Red litmus solution ?

(C)  Blue litmus solution ?

(D)  Universal indicator ?
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